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paper.

- i] m 1 E

i) IO ¥ o AR ‘W B mve i
iii) w‘a‘ﬁlﬁ%féﬁzozﬁﬁ%mmaﬂomomom
A T &

iv) 3toTHoNTo ITW T3 dfpa THT S & Tvad I@ @ FE AW
35N, T@ReR anfe W
v) @R’ W 50% IHIG T
4

vi) wmfr&%
vii) WeE® o wed: fom fear a1 ¢ f& 35 fovem @ve w0 €1

viii) %] 39 @@ sifed €1
-ix) \w@wﬁﬁqaﬂtaﬁaﬂmﬁwﬁmwﬁmqmﬁ
T Uy 9% 7 HifU |

x) a1 & % U e aifia ¥ @t S-gRae % 9 gs W HiteT 3R
fFT T2 ( x ) 2T | IH T8 W HIY &6 7 i

xi) T F e % Ee § T W A fenw) Ak g m o @t @ d W
o o aravg fafan

Xii) tom wel % 7o d T wieen oevasd &, 3 W@ T U fod emv
it | faen fom & OF g STt 3 3G A W

01000/24 _ { Turn over


Hindustanknowledge.com


822(DV)

Instructions :

1)
i)

i)

1v)

Xi)

X1i)

All questions are compulsory.
This question paper has two secl | \
Section ‘A’ contains 20 multiple choice type questions of | Mar
cach thal has to be answered on OMR Answer Sheet. :

After giving answer on OMR Answer Sheet, do not cutitand dq g,
use craser, whitener etce.

Section ‘B’ contains detailed answe
Total 5 questions are there in this section.
In the beginning of each question it has bee
parts of it are to be attempted. _
Marks allotted to each question are mcnlinncdﬁ st 11..

Start from the first question and go up to t question. Do nqp
waste your time on the question you canigl
If you need place for rough work, do i
book and cross ( x ) the page. Do
page.

Do not rub off the lines consl
Do write the steps of constr

ions ‘A’ and ‘13

r type questions ol 50 marks

n mentioned how Nany

selve.
A
ft page of your answer

ite the solution on that

in a question of construction,
n in brief, if asked.
in solution of a question wherever jt

Draw neat and correct {j
1S necessary, nthcnziiéits absence the solution will be treated

incomplete and w&

g ug - A
606 Section - A
00 (mm)

( Multiple Choice Type Questions )

1. et Rt quiieht @ 3R b & el

(A) a=Ho "o (a, b)xb

(B) ax b=t ®o (a,b)

(C) b=To To(a, b)xTo Fo(a,b)

(D) arb=Ho Ho(a b)xcloTo(a, b) |
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1. For any two positive integers 'a' and ‘b

(A) a=HCF(a,b)xb

(B) axb=LCM (aq, b)

(C) b=HCF(a, b)xLCM (aq, b)

(D) axb=HCF(a,b]xLCM{a,b] 1
2. UH VAR W ¥ u A9REy wen 9 RTHS Bl &

(A) SRR HeET (B) T weEm ((\

(C) INHT dEr (D) qot HE o 1
2. The quotient of a non-zero rational and irration mber will be

(A) Natural number (B)  Irrati Qumbcr

(C) Rational number (D) umber 1
3. A m=5 3 n=m+7,?|‘T ,/m2+®qwiﬁm

(A) 65 26

C) 13 $ (D) 17 1
\

3. fm=5andn=m +,@en the value of J m? +n? will be
(A) 65 36 (B) 26

(C) 13 (D) 17 .
L 5 . .

4, ot @%ﬂ % GHGed URHg FETt

(A) TUh B) &

© () R :
4.  The equivalent rational numbers of any rational number will be

(A) one (B) two

(C) three (D) undcﬁrlled 1
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5. ax+by+e =0 aar  a,x+b,y+c, =0 g MeE wmmam Ry Tz

a, bl e, - _-
—_— T gT AT

a, b, ¢

(A) 7@ FHIW § (B) TEm Al #

(C) Tt gfAR FAl € (D) T A FE F 1
S. a,x+by+c =0 and ~~‘123C+bgy'+cia -0 are two linear equations. If

a b c &

1_9%_&

—=—=— then

a, b, ¢, o

(A) Lines are parallel (B) Lines an mcident

(C) Lines are intersecting (D) Nob €se 1
6. fad g @ U e w21 % g de &

(A) 21 @ 42
@D] 84 1

(C) 63
6. One third of any numﬁequal tc 21. Then the number will be

(B) 42
(D) 84

(ZJ 21 606

7. AR &W’x-ﬂx =0 F1 T T - 2 &, A p F A A

B) 1

(A) O
D) 3

€ 2

7 If one root of the quadratic equation x° +2x p=0 is - 2, then the value
of p will be

B) 1

(A) O
D) 3

(C) 2
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10.

11,
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3 Bl o SGEll 1 U ST W el % 99 F 9 F e @,
7 B g

(A) FHEE B) fouwarg
(C) wHEY (D) WAfEeTg 1

The ratio of the areas of two triangles is equal to the square of the ratio of

their corresponding sides, Then these triangles will be &

(A) Equilateral (B) Scalene

(C) Similar Isosceles 1
x-38 W fer wd fag (2, -5 ) 9w (-2, 9) F“&Eﬂﬁ % v gt

(a) (0,-7) @

€ (7,0)° (D}'&l 1
The coordinate of the point on

t@xams and equidistant from points
(2,-5)and (-2, 9) will be

&) (0,-7) *{B] (-7,0) |
€ (7,0) &0 (D) (7,7) 1

mcwwﬁ‘&%ﬁ'ﬂﬁﬁs-ch,ﬁ

() 4B > (B) «B< £C
1@? (D) 4B < £C 1
AABC is an isosceles triangle with AB = AC, then
(A) «B > £C (B) «£B<<«C
(C) «4B = £C (D) «B < sC 1
AABCT AB =643 §Hl, AC= 12 9 3R BC = 6 WHt & & wiv1 B @M
(A) 120° (B) 90°
€ 60° (D) 15° {

ﬂlUOO[Qq_ [ Turn over
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| b

BC, AB =6J/3cm, AC = 12 ¢cm and BC = 6 cm, then /B wil

11. In AA
(A) 120° (B) 90°
(C) 60° (D) 15° !
12. @mﬁ@ﬁﬂﬂ@cﬁ%ga%lmmsﬁﬁmaﬁmﬁﬁ
(A) av3 (B) 3a
(D) a 1

(C) 3Va
equilateral triangle of side ra. The length of each of its

12. AABC is an

altitudes will be &
(A) a3 (B) 3a o
(C) 3vJa (D) a

N
13, AR sinA=cosA &, a A T &M 6&
(A) ©O° ' (B)
N 1

(C) 45° (D
13. If sinA=cos A, then value of A €
(A) 0° *QB] 30°
(C) 45° o (D) 60° I

afe 4 = 30°, @ 1% T |1 &
1 A

(A) -;—.\06 B) -1
(C) 32 | (D) % 1

2
l+tan” A will be

14.

14. If A= 30° then the value of =
l+cot™ A
4 .
A) — B -1
(A) 3 (B)
(C) 3 (D) 1
3
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15.

16,

16.

17.
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Jﬂl{ l{:.}; Ilti"l ’4"} L‘""" ""EI "i"[*IT thi ?r:'q] Jﬂq Fﬂ EHEH ]]'G_ﬁa QNT"T 1']' ﬁ"‘q q*ir,ﬂ

‘,ﬁrﬁ[f{ ';ﬂ-ﬂ fﬂrﬂ

(A} 100% B)  200%

D) 400%
Il the radius of a sphere is doubled

surface arca will be

() 300% 1

then the increase of percentage in its
(A) 10O (B) 200% &
(C) 300% D) 400% (@)
mﬁ%wﬁmﬂmﬁmg%lqﬁﬁwﬁﬁﬁﬁ g
(A) 9:4

(B) 4:96@
€C) 2:3

(D) \@ 1
The ratio between the diameters ol‘@c rcles is 4 : 9. The ratio between
their circumferences will be o

(A) 9:4

Q] 4:9
C) 2:3 $

0 D) 4 :5S 1
Frefetaa it = %ﬂ

Emwm% 0-2 2-4 46 | 68 8-10
. i 3

(A) (B) 54
(C) 6 (D) 61 1
The mean of the following table will be

Class-interval 0-2 2-4 4-6 6-8 8-10
Frequency 3 1 S 4 7
(A) 4-2 (B) 54
(C) 6 (D) 61 1

Turn aver
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18.

18.

19.

19.

20.

20.

fordlt ITERAT ST H HNF 24 mwzaﬁlmmm

(A) 25 (B) 26
(C) 25-4 (D) 263 I
The mean of a frequency distribution is 24-1 and mode is 28. Its median
will be
(A) 25 , (B) 26
() 254 (D) 263 !
11 FATTA 0-10 10-20 | 20-30 40-50 |
IRERAT 11 21 14 5 J

Wmmmﬁawaﬁm
QQ

(A) 10 -20

(C) 30-40 (D) 1
Class-interval 0-10 -20 20-30 30-40 40-50 [

Frequency & 21 23 14 5 IJ

Modal class of the abo Q will be

(A) 10-20 9 (B) 20-30

(C) 30-40 0 (D)  40-50 ]

Hred, W2 % dtT T

(A) %ﬂi@a&?ﬂw (B) HEIS = 3 UTAEF — 2 WA

(C) TEAF =2 A -3 TGF (D) WA = 3 TNAF - 2 TgAF 1

Relation between mean, median and mode will be
(A) Median = 2 mode + 3 mean
(B) }\dodc = 3 median - 2 mean
(C) Mode = 2 mean — 3 median

(D) Mean =3 median — 2 mode :
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(2)
(b)

()

(d)

(€)
(0

9 822(DV)

[qug -
Section - B
( fawge Iodig e )
( Detailed Answer Type Questions )
@Uga’ﬂﬁ‘ﬂ:
afe 2cos?45°-1=cos0, T O FT QT4 37 FAT | 2
3t SHHTTT YA OIS T i foerh =pm @ 41 365 @1 2
%'%'(x,yJ.ﬁlﬁ'aﬁ(S,maﬁ?{3_4}ﬁmw4®x3ﬁ?yﬁ
Y T HifY | 2
Ush Fagad WP & YN Y e 3-5ﬂﬁﬁmﬁ02ﬁtﬁ%tv@ﬁ
L 2

fod Fr A Fifaw 6 - 2
forgall (a, b) A (- a, - b) F d R EYIE Fif 2

-} 3T

0-10

0

20-30

30-40

ﬁmuﬁﬂﬁ@mmﬁﬁv§$ 2
&)

10

11

9

Do all the parts :

N

(a) If 2cos? 45°—l$@, then find the value of 0. 2
(b) Find two ¢ utive positive integers, sum of whose squares is 365,

X é 2

(c) Find the®relation between x and y such that the point ( x, y ) is

equidistant from the peints (3, 6 ) and (- 3, 4 ). 2

(d) The base radius of a right circular cone is 35 c¢cm and height is

12 cm. Find the slant height of the cone. 2

(e) Find the distance between the points (@, b) and (- a, - b). 2

() Find the mean from the following table : 2

Class-interval 0-10 10-20 20-30 30-40 40-50
Frequency 3 10 11 9 7
[ Turn over
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2. [ dta @l % 5w iR

(a)

7.6 ¥ TS H1 U Yarave @iy sk @ 5 ¢ 8 F A A

2. Do any five parts :

e | T st = 4
(b) 2x+3y=11 3 2x—4y=-24 F &7 FIY 3K TEY m H T& =T TG
HIT o7 T y=mx+3 & 4
(© % F @1 ©F aABC F e AB AR AC F A D W E W
SRR HY T §F BC % wHieT 8 ot fag sy A2 =A% 4
(d) P L aﬁﬁ%wmm@1mm%§ g e €
mﬁﬁsﬁ@ﬁmm%mﬁﬁmwﬁﬁm 4
e) @Tﬁaﬂwx+;=3,x¢o%n§fﬁrﬁ g
(f) 3 TE TR [N AT &x ymrrraslma?ﬁz
Safh el TRARAT 60 & |
T e 0-10 é 20-30 | 30-40 | 40-50 | 50-60
AR E%x 20 15 y 5
O

&f length 7'6 cm and divide it in the ratio 5 : 8.
4

Measure theQ rts.
(b) olve 2x 1 and 2x-4y=-24 and hence find the value of m for

Qq}@ma a

(a) Draw a line seg

(c) e intersects sides AB and AC of a triangle ABC at D and E
AD _AE

tively and is parallel to BC, prove that —— 4
respectively p P Y RITR

(d) A fraction becomes —é-when 1 is subtracted from the numerator and it

becomes 1 when 8 is added to its denominator. Find the fraction. 4

(e} Find the roots of the equation x+;=3, x#0. 4
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[ﬂ If the median of thﬂ frcquancy distribution givcn is 28-5. Flnd the

values of x and y while total of frequencies is 60.

4

Class-interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 5 X 20 15 . Yy S
3. 3 R R AR A 64 T ¥ % dord GorE! B e T 3
AT ST & | WISl =T &1 U eiee s SR 6
aregaT |

wmmwmlzﬁ%,@mmw&wm%'

foret gt ot s ¥4 Al e o § g g o ¥ a9 & g

7 WA 32 Well G ST & | I e 1 A | 6

3. Two cubes of volume 64 cm?each are join o end to make a solid.
6

Find the surface area of the resulting ¢

0O

A sphere of diameter 12 cn@pped into a right circular cylindrical

vessel partly filled with WBQ the sphere is emersed completely in the

water, the water level@:' cylindrical vessel rises by 3% cm. Find the

diameter of the gylintirical vessel. | 6

4. g W '@X@mmmﬁﬁﬂﬁowwﬁwwﬁtﬁﬁ
¥ & 40N S W fua fag v § @ F A FU 450 ¥ T PO H

g T G PX TR I 5
| o
W A Qo T O B A S R, R e e g i s0° <@
T g & S T @ 4 fAe 9O F AR I I 0 60° 7 T
Wﬂ%gﬁﬁﬂéﬂ#ﬁﬁﬁﬂwﬁaﬁm? 6

[ Turn over
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12
m a point X
The angle of clevation of the top O of a vertical tower PQ fro o
. the angle o
on the ground is 60°, From point Y, 40 m vertically above X,

: he tower P
clevation of the top Q of the tower is 45°. Find the height of t E
and the distance PX.
OR

the angle of elevation of the bridge becomes 60°. How much more time
will be taken by the boat to reach the bridge ? & ©

5. fuetl # 3w, ¢ # 3w W WA ¥ @ w¢ @ frw , TR 3
13 T ot | S Y g 3y o ¢

6
Aoy

. . 50N |
ﬂﬁmwwﬁ@mﬂﬁmﬁ%’$ TCADT &1 BT 6

10 + % =4 o

X+y x-y 0

15 __5 _, 0“

X+Yy x-y 0

5. The father is 7 ti

&der than his son. Two vears ago, the father was

13 times as o 613 son. What are their present ages ? 6
8 OR

. ‘ : : .
Solve t owing pair of equations by reducing them to a pair of linear

cquatiogs : 6
10 + 2 ~4
X+Yy x-y
15 5 _,
X+y x-Yy

"

822(DV) - 3,62,000
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